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Explain correlation in detail.
Find correlation coefficient for the following data

between x and y :

x: 0 10 8 8 -1 9 5 =2

y: 3 =210 5 -1 2 4
OR

Explain types of correlation.

Find » from the following information :

n =10, ¥(x — 30)? = 3200, X(y — 20)* = 1900,
Y (x —30)(y —20) = 600, ¥ =257 =18

Explain regression lines in detail.

Find regression coefficients from the following data :

x: 10 11 12 5 6 8 2 3
y: 12 13 15 7 9 10 4 6

OR

Define regression coefficient, also write its properties.

By using following results find y when x = 50 and x

when y = 30 :
X Y
Average 39.5 47.5
Standard deviation 10.8 16.8
r 0.42
Define :

(1) Random Experiment
(2) Intersection of events
(3) Complimentary event
(4) Conditional probability
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If P(A)Z?P(B')ZZ and P(AmB)Zg, then find

P(Avu B),P(A'nB"),P(A'/B").

OR
Prove that P(4u B) = P(A)+ P(B)— P(AN B).
Two dice are thrown simultaneously. Find probability

that the sum of digits i1s (1) 5 (2) at the most 4.

Write properties of Binomial distribution.

From the following probability distribution find :
(DK @ Ex) Q) v

x . -2 -1 0 1 2
p(x): K 03 03 0.15 0.1

OR
Write properties of Normal distribution.

In a Binomial distribution n=6 and P(3) : P(4)=8:3

Find P and mean.
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